G\UANL Enginesring Biandardo\Eng. Narual [LEMI\2. Appraved\ST—C4010-18E2.dvg, 11/04/02 B 11:5B 083888

BILL OF MATERIALS

TEM DESCRIPTION QTY| MFR. CATALOG No.
(2) |tRASS ARM, WaOD, 3 1/2° X 4 1/2" X &°-0% 4 PIN 2 | HueHES §2202¢
(3) |cROSS ARM BRAGE, 1 11/16° X 2 11/18" X 48" SPAN 2 | BROOKS $446-48-24
(7) | SPRING WASHER, 5/8" SIZE 4 | JosLyN 177
WIRE, 3/B" (7#8) H.5. STATIC, 3D% COND. Rég'n COPFERWELD
POLE BAND, 4-WAY, FOR 7 1/2" 79 12" DIA. Z | HUGHES 41111
LAG SCREW, 1/2" X 4" 2 | JosLyN guE7RL
CONNEGTING LINK 2 | HUGHES #3170
GUY ROLLER, WHEEL TYPE, WITH 3/4™ X 2" BOLT 2 | HUGHES #28082

GUY GRIF DEAD END, "B" COAT, 3/B" SIZE, GALVANIZED

PREFORMED #CDE3115

2

&

\E)

@ | cRMP cONNECTOR 3 | e

LOW VOLTAGE STEEL PIN, 5/B", 8" HEGHT 2 | JOSLYN #J2D7Z
@ PIN INSULATOR, ANSI CLASS 55-5 2 [ VICTOR #BR

@ MACHINE BOLT, 1/27 X &7 4 | JOSLYN #JB7D6
SPRING WASHER, 1/2" SIZE 4 JOSLYN #4176

@ | MACHINE BoLT, 5/8° X 14° 1 [ JOSLYN 8814
@ SQUARE WASHER, 5/8” SIZE 4 | JOSLYN #11D74
@ DOUBLE ARMING BOLT, 5/8" X 22° 3 JOSLYN #J4BB72
@) | eve NUT, 5/8" SiZE B | JOSLYN #110DZ
@ SUSPENSKN INSULATOR, POLYMER B | JOSLYN #§L1510
(@) | STRAIN CLAMP, DEADEND 3 | HBEELL/ADERSON
@9 | DisT. TES FOR 3/0 ACSR (8/1) 4 | PREFORMED #UTF-12D7
@ NO. 1/D BARE COPPER WIRE, 7 STRAND Ré\qs'[)

@ GROUND WIRE STAFLE, 27 Ré\ng JOSLYN #46655
@ GROUND ROD, 3/4" X & 1 JOSLYN #45338
&) | 6ROUND ROD CLAMP, HEX HEAD, 3/4° 1| JosLYN HuBae3
@ LINE TAR CRIMPIS, COPPER YC-C 3 FCI-BURNCY #YC28C368
@ LINE TAP CRIMPITS, ACST YP-U 3

GENERAL NOTES:

DRAWING DEVELGFED FOR ML—3/ML—4
PRDJECTS, FOR ML—1/ML-2,
ADDITIONAL REQUIREMENTS AND QA
REVIEWS ARE REQUIRED. {REMOVE
THIS NOTE WHEN INSER INTO A
DRAWING PACKAGE).

1. THIS BILL OF MATERIALS APPLIES TQ DRAWING ST-G4C10—18, SHT. 1.

2, EQUIPMENT MEM NUMBERS [@] REFER TG EQUIPMENT NUMBERS IN

LANL SUPFORT SERVICES CONTRAGTOR'S MASTER BILL OF MATERIALS.
ONLY THOSE NUMBERS USED ON SHT. 1 QF THIS DRAWING ARE SHOWN.,

NATES FOR DESICNER:
E%%wm'.}g INCLUDE CN CANSTRUCTIAN

L L
L 9
? 1. CONPLY WITH GURRENT EDMION GF §
< LANL DRAFTING NANUAL FOR CALL— 4
OUTS PROTOCOL_AND LOCATION OF
1 SCHEDULES/MATERIAL. 9
@ 2. ASSIGN AN APPROPRIATE DRAWING 4
L 9
L L

CANC BhabrRe” TR EREeST

FOR DETALS.

9090006609

N DATE REV PESCRPTON DWN |VER|CHKD| SUB | APP

A\ FACILITY & WASTE OPERATIONS
e SYSTEMS ENGINEERING & MAINTENANCE

LANL ENGINEERING MANUAL ORAW |y paer
SITE ELECTRICAL DISTRIBUTION STDS.
CESEN 0. BRYANT
DISTRIBUTION — NEW 3-WAY TAP QN EXISTING TANGENT | qerken
STRUCTURE - BILL OF MATERIALS J: LANDNAN
BLDG. X TA=X | " |s/350/p2
SUBNITTED APPRINED FOR RELEASE
DECPLINE POCI DAVID PAWELL STANOARDS MANAGER! TORIN JRUCH
SHEET
_ 2
° LOS Alamos PU Bax 1063 2 ar 2
NATIONAL LAROAATRRY Los Akmos, New Maxko B7648
CLASSFICATAN U [REVEMER  NIHAEL LaDaCH [oarea/38/82
PRQJECT D DRAWING NO REV

CHAPTER 7 ST-G4010—-18| 0




